Structure Function .o

Laplace transform (with 1 = —z):

dr(¢) = / dt "' Dy (t). (1)
0
Coupled ODEs for Dy(t) become coupled algebraic equations for dj(():

(g - ak)dk(C) - Z(Sk,ﬁ - dk—1<<) + biJrldk-i—l(C)? k=0,1,2,... (2)

Condition: d_1(¢) = 0.

Recursive construction of continued fraction representation for dy(():
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Structure function S(w) from dy(¢): combine Fourier transform with inverse
Laplace transform.

S()(w) = /+OO dt eWtDo(t),
Dy(t) = —zi /C d¢ e “'dy(¢)

™

= So(w) = 212% Reldo(w +12€)]. (4)



